Organisational
structures

All businesses have organisational structures. This means that all the
employees are given a role in the business and that these f|‘t together to help
the organisation to achieve its aims. Some people have senior roles and are
responsible for many people; others are more junior. The structure sgts out
the relationships between people in the business. We shall see thgt d|fflerent
businesses use different organisational structures and that a business's
organisational structure may change over time.

By the end of this topic, you should know:

® why businesses have organisational structures

@ the different job roles and responsibilities within an organisation
@ the internal organisational structures a business may use

® why businesses use different organisation structures

@® how organisational structures affect the way a business is managed and

cornmunication within it

® the advantages and disadvantages of centralisation and decentralisation.
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@ Why businesses have organisational
structures

Businesses have to organise themselves to be able to carry out their activities
effectively. It is important that everyone in the organisation knows:

=» what their duties are 7

=» the person or people that they have to report to .

= the other employees in the organisation for whom they are responsible.

An organisational structure sets this out so that everyone in the business
knows this information. Without this internal structure, a business would be
very chaotic and not very productive.

An organisational
structure is thewaya
business arranges itself
to carry out its activities.

_

@ Job roles and responsibilities within
organisational structures

All businesses have an internal organisational structure. The organisational
structure shows the roles played by each employee in the business and who
reports to whom within the business. The roles and working relationships in a
business are shown in an organisational chart (see Figure 4.1).

An organisational chart
is a plan showing the
roles of, and relationships
between, all the
employees in a business.
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Figure 4.1 An organisational chart

In Figure 4.1, it can be seen that:

=* shop-floor workers are responsible to and report to team leaders, who are

: Key terms
their line managers

Aline manager is an
employee’s immediate
superior or boss.

= in turn, the team leaders report to managers, with each manager being
responsible for a group of team leaders (in this case, there are four)

=» managers report to individual directors who report to the chief executive or
managing director to control others and to

= the chief executive officer (CEO) or managing director has ultimate authority | make decisions.
(or power) within the business. ~ o

Authority is the power

Organisational charts show how each individual employee fits into the business.

They show each employee’s line manager and the people for whom managers
and others are responsible (see Table 4.1).

Job role ’ Responsibilities
Directors ® Establish the business's overall goals
® Setlong-term plans and targets for the business
-
Managers ® Work to achieve the short- and long-term targets set by the directors

® May be responsible for a function within the business, for example, marketing or finance
® Use employees and other resources in the best possible ways

Team leaders

® Help managers to achieve their targets by reporting any problems and passing on instructions
[or supervisors)

® Take simple decisions, such as allocating jobs among different employees

Shop-floorworkers | Carry out the business’s basic duties or activities, These could be working on a production

or operatives

line, serving customers in a shop or basic office duties
Table 4.1 Different job roles within a business @




Features of organisational
structures

There are a number of features of internal
organisational structures that can be altered to
suit the business’s particular circumstances.

Spans of control and levels of hierarchy

The span of control is the number of employees
managed directly by a manager. This means
that the manager is the immediate boss or line
manager of these employees. In Figure 4.2,
Manager A has a span of control of four and Team
Leader 4 has a span of control of five.

Managers have different responsibilities to shop-floor
employees. They are normally responsible for using employees
and other resources to achieve the business's targets.

Manager A Manager B
| | .

r | | | [ | | | The span of control is
Team Team Team Team Team Team Team Team the number_ of employees
leader leader leader leader leader leader leader leader managed directly by

1 2 3 4 5 6 Fi 8 another employee.

= I \| ‘ | Levels of hierarchy are
; ; . ) ; the layers of authority
1 0] t Operative  Operative ~ Operative o E ]
Operative perative pera peratl perati quthm 5 Busiieas.

Figure 4.2 Different spans of control

A director, manager or team leader should not have
a span of control that is too wide. If this happens, he
or she will find it difficult to manage the employees
properly as there will be insufficient time to spare
for each employee. Experts recommend that the
maximum span of control for a manager should be no
more than six, though this is commonly exceeded in
many businesses.

Levels of hierarchy are the layers of authority in a
business. The business in Figure 4.1 has five levels
of hierarchy. This means that the employees at the
bottom of the organisational structure have four
layers of authority above them.

Chains of command

A chain of command is the line of authority within

communication passes. Thus, directors m ight decide on a target for the business
and issue instructions to managers about achieving this target. In turn, instructions
will be passed down to team leaders and eventually to shop-floor workers on actions

to take to meet this target. Similarly, each level of hierarchy within the organisation
achieving the target. This

will report to the level above on the progress made in

$

Managers can struggle if the
control. Some experts do not recommend a span of

control of more than six people.

a business along which
Key term

The chain of command

is the line of authority
within a business along
which communication
passes.

shows how communication can flow up and down the chain of command.
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Delayering

] ; i .

Delayering does have consequences beyond reducing costs:

=¥ Junior ye i
Junior employees might have to take on some of the duties previously carried
out by employees who were their line managers. -

a 1

Business insight

Delayering at Boots UK

Delayering is the
removal of one or more
levels of hierarchy from a
business’s organisational
structure.

The ch_emwst shops owned by Boots are in most towns
and cities across the UK. They sell health and beaut
products, as well as dispensing medicines. In 2016 '
the company announced plans to cut up to 350 jobsl

in the UK to reduce costs, especially in its larger
stores. The job losses involve the removal of a layer
of management in the stores - the jobs lost are those
of assistant managers in the stores. These job losses

are part Uf;z move to simplify the organisational
structure within the chemist’s stores.

This move follows a decision b

: y the company to
remove 700 office-based jobs just seven mo?ths
earlier. Bootfs was recently bought by an American
company which is seeking to improve jts profits.

Explain one_advantage and one disadvantage to
Boots fron_1 its decision to delayer its organisational
structure in its larger stores.

\_

[6 marks)

Delegation

Hox.m'ever, as a business grows, this becomes impossible. There are t

decisions to be made and some might be very | o
specialist, for example, on creating software
for the business’s IT system. Delegation givés
jclutho;rity to junior employees to take decisions
%n aspecific area. For example, a store manager

In a supermarket might delegate authority to

more junior employees to order supplies of
vegetables or fish when necessary.

© Using organisational
structures

No i
tall businesses use the same organisational

st g i
Tucture. Some businesses may opt to use

‘
tal r . . e
I” organisational structures, while others
1] )
Use ‘flat” structures.

. % g > ] 7 ’:l-
9l « i -
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in decision-making.

Some businesses such as John Lewis invol

Delegation is the
passing down of authority
to more junior employees,

-5

ve employees heavily




4 Human resources

Tall and flat organisational structures

gersin a business can choose the structure for their organisation

The senior mana ot o0
8 eclde H
ioure 4.3). The managers mMig | |
(-S’ee . ide )span of control, This means that each director, manager ot team
use a wide .

) . e ;
Jeader/supervisor will have a large number of people Lehlffrltmg }fuec?y ec;

isati i it is likely to have few

has a wide span of control, i

them. If the organisation ! S e
i isation’s structure can be descrl :
levels of hierarchy, and the organt ) i A
- ol. In this case, the business gives ¢ ;
use a narrow span of contro g,
manager or team leader a small number of employees for whonl*l they aie

; i to have mo

i therefore, for such a business
responsible. It may be necessary, e ‘ ve n

1ay1<:rs of hierarchy. This type of organisational structure 1 called ‘tall’, for

obvious reasons.

A flat organisational
structure — this has
wide spans of control
and few levels of
hierarchy

A tall organisational
structure — this has
narrow spans of
control and a larger
number of levels of
hierarchy

Figure 4.3 Flat and tall organisational structures

Management styles and organisational structures

if ' heir
The managers of a business can use different approaches t;)k 1n3nag§ th ’
juni isions
ive littl dom to junior employees to take dec
employees. Some give little free . ¢ '
wofk :nd control them closely. This means that most important decisions ar
taken by senior employees. |
. | . t
On the other hand, some businesses take a completely dﬁeri‘lt apiroalm tz
i ithin their job roles
i ven greater freedom wi
managing staff. Employees are gt . ; :
take c%ecisions and to organise their work. Line managets, therefore, give up

some control over their team.

Try not to forget that a
span of control refers to
the number of employees
who are directly managed
by a more senior
employee. This means
that these employees
are on the next level

of hierarchy down and
report to this particular

kmanager.
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Business insight

Martin’s coffee shops

Martin Fisher’s business has grown steadily. He
started by running one coffee shop in London. This
coffee shop had four employees - as do most of the
business'’s shops. Martin has opened 11 more around

his instructions. However, the business is now so
large that he has had to appoint branch managers for
each of the coffee shops and a senior manager to be
responsible for half of the branch managers. Martin
is the line manager for the other branches. He has
found that he is less involved in day-to-day issues in

the city, giving a total of 12 shops. When he anly had
three coffee shops, he managed them all himself. He
took the major decisions and his employees followed

his coffee shops.

Martin's span of control.
e

Analyse the effect of the growth of the business on

[6 marks]

We have seen that organisations can have two different types of structures: flat

and tall. The type of structure used has implications for the management style

that is used in the business:

=* Delegation. As we saw earlier, a flat structure means that managers and
team leaders have to work with wide spans of control. This means that they
have to be responsible for a relatively large number of junior employees. As
aresult of this heavy workload, those responsible for managing people have
to give them more independence in their working lives. This means that
junior employees are able to take more decisions on their own and are not
controlled so closely by their line managers. Passing down authority to more
junior employees in this way is called delegation.

= Authority. Using a tall organisational structure means that most line
managers have narrow spans of control and are able to monitor the work of
their juniors very closely. This means that juniors have little independence
or authority at work. Senior managers have the authority to control decisions
that are made in the business, and little freedom is given to junior employees
on how to organise themselves at work.

A tall organisational structure is usually associated with a management style
where little use is made of delegation and managers take most decisions. In
contrast, a flat organisational structure encourages a management style which
relies on delegation, giving more authority to junior employees.

Using the appropriate organisational structure

There are a number of factors which might influence a decision by managers on

whether to use a tall or a flat organisational structure:

=* The skills of the workforce. Skilled workers are more able to take decisions
on their own and need less supervision from managers. Thus, if a workforce
is highly skilled, managers may choose a wider span of control and a flat
organisational structure. This approach may be used in a hospital where
many employees are highly skilled.

=» The management stjzle used in the business. We saw earlier that
organisational structures have implications for the management style
that is used. Managers that like to retain control over employees will be
more likely to use a tall organisational structure. This gives a smaller span




of control, making close supervision easie

Those managers who do not wish to control'
employees closely will delegate and use a flatter
organisational structure.‘ ‘ . N
- The business’s competitive envn‘onment..

business in a competitive environment may w151r1
to keep its costs to a minirm.m\ an‘d to he‘w_e JEhL
best possible performance from its \/\f'fi‘)l][d_ou:e.1
This may lead to the use of a flat organisationa

structure. This type of structure requires fewer
ce wage costs. Flat

managers, helping to redu
structures can also motivate workforces as

junior employees are given more authority and

possibly more interesting jobs.

ewho work in the UK's legal system [solicitors
ghly skilled and require

Many peopl _
and barristers, for example] are hi

little management.

structure and communication

dividuals and groups within organisations

Organisational

There are numerous ways in whichin :
communicate with one another. These include:

Communication is the
exchange of information
between two or more
people.

i ! irectors to agree its
- meetings, such as a meeting of a company’s board of dire g

long-term plans
- video-conferencing in which v -
business’s employees in different locations
=» telephone conversations, for example, an employee
place an order with a supphef'
- emails are increasingly used for }11&111}/ com o
advising customers of special offers thé.lt are available
- business intranets —a form of internal mterm-at —~to -
communicate within the organisation and with suppliers
=» other forms of written communications, such as
letters, which are still widely used.

-deo links are used, for example, to aﬂ.ow a
to talk to and see one another
might use this method to

munication purposes, for instance

CEO

Directors

There are three types of communication that take

place within a business:

- downward ~ communication
employees to more junior ones

= upward communication from junior employees

to their line managers and other more senior
employees . *
=» horizontal communication, which takes place
between employees at the same level in the
for example, a discussion between

senior

from Managers

Horizontal commiunication

Supervisors/team leaders

Shop-floor employees

X Figure 4.4 Different types of communication

managers.

Flat organisational structures can have the following effects on communication:

=* Downward and upward communication may become easier as there are
fewer levels of hierarchy for messages to pass through.

=% However, wider spans of control may mean that line managers are
responsible for large numbers of people. This may result in more emails
and fewer meetings. The quality of communication may suffer as a result.

= Giving employees greater authority within a flat organisational structure
can encourage upward communication as they are more likely to exchange
information with line managers.

=¥ Horizontal communication may become more difficult as there are more
people on each of the levels of hierarchy.

Tallorganisational structures may have the following effects on communications:

= Organisations with many levels of hierarchy often experience problems in
passing information through these levels. Messages can become garbled or
may not be passed on.

=» Tall organisational structures operate with smaller spans of control. This can
lead to good communication between line managers and subordinates as
the manager is directly responsible for relatively few employees.

Centralisation and decentralisation

Many businesses in the UK have become larger over recent years, Larger
businesses normally have more employees, more sales and possibly operate in
more locations. These changes might make it difficult for a small number of
senior managers to take all the decisions needed to keep the business running
smoothly. Senior managers might decide to decentralise the organisation

Decentralisation allows

employees working in all
areas of the business to
take decisions.

because the business is getting larger or for other reasons, such as improving
the effectiveness of the workforce. Decentralisation is illustrated in Figure 4.5.

N

Head office
Senior
managers
and directors

/

Small businesses like this are less likely to decentralise than larger
Ones.

Figure 4.5 Decentralisation
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that employees working in branches, departments
e decisions at

Decentralisation means
or factories across the business are given more authority to tak

work. For example, a manufacturer with a number of factories might allow the
o take decisions about hiring new employees, which

managers in each factory t
articular day and how to look after the needs of

products to manufacture onap
certain customers.

Decentralisation can lead to some major changes in a business. Some employees
may have to move to work in another part of the business. For example,
decentralisation might mean that managers who understand finance must
work in each of the business’s branches or divisions, rather than together at the
business’s head office. This can mean that those employees with financial skills

move to a different part of the UK.

Advantages of decentralisation

reduce the pressure on the senior managers in a

=» Decentralisation can
s raising

business. This can let them concentrate on the key issues, such a
finance and negotiating with customers.

- It can motivate employees throughout the
authority to take decisions. This may mean that t
better at their jobs and that the whole business

business if they are given the
he employees become
performs better as a

result.
- Decentralisation may also lead to better decisions. For example, a retailer

with many shops in different parts of the UK may benefit from employees
taking decisions that are correct for their area. So, if some products are
selling well in a certain area, local employees would know to order more
from suppliers.
= Tt can also allow faster decision-making. Employees do not have to consult
with senior managers and can take decisions immediately. This might
benefit a business by, for example, allowing it to buy supplies at a bargain

price.

Challenges of decentralisation

Businesses need to plan for the introduction of decentralisation. The managers
of a business thinking of decentralising should consider a number of important
issues if the change is to be a success:
- All the business’s employees must understand its aims or goals. This will help
ensure that they take decisions in the best interests of the whole business
and not just their branch, factory or shop.
= Training may be needed. If employees are asked to take on new duties such
as negotiating with suppliers, they may not have the skills they need. The
business may have to invest in the necessary training, which can be costly.
- Cood communication is very important. Senior managers must be aware
of key decisions taken in all parts of the business and must be able to send

messages to all employees in the business.

Try not to confuse
decentralisation and
delegation - many
students do. Delegation
means giving authority

to junior employees.
Decentralisation means
senior managers passing
authority out to branches,
shops, offices or other

divisions of the business.
.y

Business insight

La Redoute

La R_edoute is a French-owned company that sells
fashion clothing online and through mail-order
_catalogues. [t has 10 million customers and operates
in 26 countries including the UK. The company has
regently opened its first store in the UK in Liverpool
This may be followed by stores elsewhere. ‘

Explain one reason wh i
r y La Redoute may decide 1 ;
to decentralise if it opens a large number of ) e —

st . t -
oFeE (6 i A La Redoute stockroom. This primarily web-based
1 company may have to decentralise if it decides to open
a large number of stores.
=

Businesses often decide not to decentralise. There are reasons why th

ma_slz choose to remain centralised instead. For example, it may be t]yt ley
bus.mess’s employees do not have the right skills to maI;e a de?jfentr lq'El tF n
policy Isuccessful. Alternatively, the business may not be able to affo Z 1tS  pay
for training. In addition, if the senior managers believe thaf the willl ot be
overworked if the business remains centralised, they ma choz 1 o [_3@
control over the important decisions in the business. ’ R

Centralisation occurs
when a small number
of senior managers in
2 business take all the
important decisions.

: Businesses have to organise their employees to
: mal».<e the most effective use of them. Key parts of a
brus!ness's structure are spans of control and levels

: of hlerarchy. A business with a wide span of control

5 ts'llkely to have a flat organisational structure. One

: with a narrow span of control will probably ha\-fe more

levels of hierarchy and a tall structure. It is common
for a growing business to decentralise, though not all
choose to do so. Decentralisation can offer a business

a number of advantages, but it also poses challenges
for managers.
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Quick questions
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1 What is an ‘organisational structure’?

(2 marks] 4 Explain the difference between a tall and a

flat organisational structure.

2 Abusiness has four levels of hi

‘ ierarchy: a
CEOQ, 4 directors, 16 managers and 64 team o
leaders. Which of the following is the CEQ's

span of control?

5A busivnesls has moved from a tall to a flat
organisational structure. Which of the
following statements will be true?

sesssnscssens

. Q) 84

Eb; 20 (a) Its typical span of control will be wider. :

§ © 4 (b) Its typical span of control will be narrower.

; @5 (1 mark] (:|) :t W?“ have more levels of hierarchy.

. B o ierense befimsen & vk (d) It will have more employees. (1 mark]

g and a wide span of control. (A riariee]
-



6 Explain one reason why a business with a
tall organisational structure might have a
narrower span of control. (3 marks)

7 Explainwhy the use of delegation is more
likely within a flat organisational structure.
(3 marks]
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'Case study

Apple’s organisational structure

: Apple sellsarange of technology products (laptops.
watches and mobile phones, for example) in markets
throughout the world. It is famous for developing
many successful new products.

ssssasnsnennS

Since Tim Cook became the leader or CEO of Apple in
2011, his span of control has increased significantly.
When first appointed as CEOQ, Tim Cook had a span

of control of nine. By 2016, this was 17, according to
information on Apple’s website. The CEOs of many other
major companies have wide spans of control. Recent
research suggests the average CEO's span of control has
risen from about five in the 1980s to ten.

sansaven s

Apple is more decentralised nowadays, an approach
tavoured by Tim Cook. He has decentralised to

: make the best use of the company’s skilled and

: creative employees. Apple’s employee numbers have
* doubled from around 60,000 at the start of 20120

: approximately 120,000 in 2015.

------ u.-.-o--on.--u..--..o-.----o.--o----uo---n-----.-.no---- sssnsssssenessesiadneniene

8 Explain the difference between
centralisation and decentralisation.

9 State two benefits of decentralisation.

(2 marks)

10 State twe challenges that might be faced by
3 business that is decentralising.

---on.-o-o--cn---oco--nc--on-

in 2014, Apple announced profits of £14.15 billion over &
just three months’ tradin

1 State two ways in which Tim Cook might

ssassnenens

sessssssneEE

sssssesenne

[2 marks)

.

g - the highest profit figure
for three months ever achieved by a company!

communicate with the people for whom he is

directly responsible.

@ Explain one benefit that Apple might gain

(2 marksl

from operating a flat organisational structure.

3 Analyse why Tim Cook ma

the company maore decentralised.

4 Recommend whether Tim Cook should
reduce his span of control. Give reasons

for your advice.
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y have decided to make

(6 marks)

(9 marks]
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Recruitment and
selection of employees

Nearly al '
Succeis sfbuzrn§5535 haye employees, and they can play a vital part in the
| a business. It is important that businesses operate an effective

3

By the end of this topic, you should know:
| @® why businesses need to recruit employees
| ® the main methods of recruitment
G [ I [
the main stages in the recruitment and selection process

u’ 1
the different types of employment, such as full- and part-time
employment, and the difference between them

® what a contract of employment is.

@ Why businesses need to recruit
employees

Business i
ses need to recruit employees in a range of circumstances

Starting a new business

- May need to recruit two types of employees:



Expanding a business

it may need to recruit employees for two main

If a business is expanding,

reasons: ‘

- Increasing production. Tl.ne
its existing goods and services,

' i S| iction of
business may be increasing prodt

possibly to sell them in new markets. Tl'lle

busi il need more employees similar to those avlready employegd
e ample, 2016, the supermarket Aldi announced it was opening

e ??(amlleEJ mls in ﬂrlle UK and would be recruiting 5,000 new em.ployec?s.
ad'dlt]m'i? Stt'of Some businesses decide to produce different goods and semcels,
- z:;z:i:: s;cl,]h:ng them in new markets. Thisis calleq divgrsifﬂicati_o-na?s alfzz Ct(;
uit employees with the knowledge and skills legune ‘ p. ‘

e n%d;io iicsrervices. Rolls-Royce plc, a manufacturer of engines for ships an
jifcsriﬁgt??s :o design cruise ships for a Norwegian business. The company may

Diversification occurs

when a business start_s
selling new products in
new markets.

. ]]

Business insight

Equinox Fitness clubs

[ rates a chain of health and fitness clubs. It
Egg]ggxcfupbes in the USA, UK and Canada, andDaDL[rJnost
doubled in size during 2015, from 7.UUD to'wzlme
employees. It expected to expand rapidly in .d
The company is using the latgst technology, based on
its website, to help it to recruit new employees.

y Equinox might have used technology on

Bt ruit employees. (4 marks)

its website to help it torec

L

When employees leave

Most businesses have employees wh

car loyees may leave because: ‘ ‘
Y:atlllnf;nﬁa(\)fz been ())]ffered another job; this could be a promotion or perhaps

ve a higher rate of pay | | .
- 1;1a are rgetiring or stopping working for reasons such as caring for chi
Ney ¢ =

~tance of recruiting the right people and

o leave their jobs at some stage during a

The impo

keeping them

Recruiting the right people is import
will have the necessary skills to
hard. If the wrong people are recruited, a b

B au
unhappy at receiving poor quatity
to spend time and money recruiting other people.

ant for all businesses. The ‘right’ people
do the job successfully and be willing to work
usiness may lose customers who are

ality service or goods. The business may also have

4.2 Recruitment and selection of employees

Once a business has recruited the right employees, it usually tries to keep
them. High rates of retention mean that only a small proportion of a business’s
workforce leaves over a time period, normally one year. Low rates of retention

help to reduce businesses’ expenditure on recruiting and training new
employees.

@ How businesses recruit and select
employees

Recruitment and selection are normally the responsibility of a business’s
human resource (HR) department and its human resource managers. However,
businesses may use specialist employment agencies to help to recruit and select
their employees. This is common with small businesses and those that are
seeking highly specialist employees.

There are two major ways to recruit employees: internally from inside the
business, or externally from outside. A new business will have to recruit
externally at first as it does not have any existing employees; established
businesses can choose between the use of internal and external recruitment.

Internal recruitment

Firms often recruit internally by promoting their existing employees to a more
senior role or by transferring employees to a different job at a similar level
in the business. A business might recruit internally by putting notices up in
the workplace inviting suitable employees to apply for the position. A senior
employee might recommend someone for a post — this is known as a personal
recommendation. In slightly larger businesses, posts may be advertised on the
business’s internal website or in the newsletter circulated to all employees. In

very small businesses, the owner may simply tell employees that there is a job
vacancy.

Internal recruitment offers a number of benefits to businesses:

=¥ Candidates will have experience of the business and will be familiar with its
methods of working.

= Candidates will know many of the people with whom they will be
working.

= Internal recruitment provides employees with the chance of promotion,
which may help to motivate them.

= Internal recruitment is cheaper as it avoids the need for expensive external
advertising.

On the other hand, it is common for firms to have to pay for training when
Promoting or transferring employees, as they might not have the right skills for
the new job. A business can only choose from a limited number of employees
When recruiting internally, and the skills and experience of this group may not
be exactly what the business is looking for.

Retention is the

proportion of a business's
warkforce who remain
with the business over

a period of time, usually
one year.

Recruitment is the
process of finding
and appointing new
employees.

Selection is choosing
the right employees from
among those who have
applied for a job.

Internal recruitment
takes place when a job
vacancy is filled from
within the existing

workforce.
= D,
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External Internal A job descripti
(recruiting employees from (recruiting employees from Job description and application form can b s st
outside the business) within the business) found on our website: e lspplicatmns by email are welcomed and should |
e sent to:
http://www.wea '

The owner or manager = versacademy.org.uk/contact-

tells employees about us/vacancies HRManager(@weaversacademy.org.uk.’
{ Advertising fdnewsliaperj[ the job vacancy Please send your completed i Source: Times Educational Supplement: www.tes.com
: radio, interne ‘ and c . m E—

Certain employees are overing letter to our HR Manager, Analyse the reasons why this school’s ma

/ invited to apply Mrs S Cirelli at W o may have decided - nagers
| ol Pl =] Methods of Road . eavers Academy, Brickhill . ided on external recruitment to fill this
recruitment  —___ Advertisements are placed L "o Wellingborough, NN8 3JH. job vacancy. (6 mack
| in the business's employee 3kl
”‘ / newsletter J
Employment agencies ) "
. Advertisements are placed Recruiting employees externall
; : : y offers a number of ad :

on noticeboards, the internal = Manage - . ) advantages to a business:

‘ website, or sent by email applicgt.rs wflll h?lve a wider choice of candidates and this can result in
_ _ ations trom higher-quali ~di . , .
Figure 4.6 Methods of internal and external recruitment nationally. gher-quality candidates, especially if the job is advertised
=» Businesses sometim i
: ) es recruit external candidates in t! .
External recruitme nt bring fresh ideas and enthusiasm into the business he hope that they will

= E i i
xternal recruitment provides new employees who have the right skills

External recruitment means that a business looks to hire employees who do not :
immediately. Training existing employees can take time.

already work for the business. This type of recruitment is frequently used when
a business is expanding or moving into new markets or supplying new products.

External recruitment
is filling a job vacancy

Al ;
though external recruitment offers the benefits of a greater number of candidates

| This type of recruitment is normally done by using one of the following methods: | from any suitable person itis likely to be very expensive. The business will also know less about th
| - Advertising. This is a common technique. Businesses advertise externally not already employed by people they appoint. This means there is a greater chance of making a nﬁetslirson "
a stake.

: ; g . O the business.
| in newspapers and magazines, or on the internet or radio, and invite he nes!

' interested people to apply by a certain date.

@ The recruitment and selection process

'l | = Jobcentre Plus. These centres are located throughout the country. Their role Most businesses have job vacanci .
\ is to bring together businesses looking for workers and suitably skilled people. some employees, We saw eaﬂierlf:; aatt io.m? point — that is, they need to recruit
it They are run by the g.overnment’s Dep:tu‘tment for Work ar.ld Pensions. the right people. Todo this, busim;sqesl h£: 1th0}Jitant for b.usmesses to appoint
| . - Employment agencies. These are privately owned businesses that help =» recruit the best possible a lican:[ ve to have effective processes to:
‘ businesses to recruit employees. Employment agencies provide employers with = select the right person or }I; }e)(JpIe fjom i "
0 have app ied.

' details of suitable applicants for posts they may have vacant and might help to - _
|| N choose the most suitable employee. They are paid fees for these services. he stages in the recruitment process are shown in Figure 4.7.

Businesses need to
recruit because of:

| \ | Business insight e
L] ro
I 1 . ) . _ . gntering o e its Internal adverts
| Weavers Academy job advertisement teachers which would equally suit experienced » employees leavir - within business,
1l . . , _ _ professionals or those early in their career. 9 e.g. on intranet
d | This advertisement appeared in the Times Educational _ - _
, Supplement, a weekly newspaper sold throughout the The succes_sful candidate will join a col!aboratwe J'
] UK. It is well known for carrying advertisements for and committed staff team that have a vision to i _ 2 Job descrioti =
Al teaching positions in the UK. strive for success through focusing on learning. LB"S'“ESS needs and pers‘:n:ons -:JObtilOsIt-lons P
J ‘ ) : Outcomes for 2016 have significantly improved \ ew employees e 'i:?fa vertised _ _  received and
\l ' Head of ICT and Business, Northamptonshire and we have a growing reputation in the o Arasniup. e,:::[g'or kept until the
iy The rapidly growing demand for places at area as a caring school with high expectations | y closing date
i IE'”L* Weavers Academy presents us with this of learning, behaviour and attendancfe. The ;
1Rl opportunity to increase our staffing in a academy is part pf the growing multi-academy . Data from
I ‘ J number of different subjects. We are seeking trust "CET" and is well supported by leaders In i\ job analysis !Ei;tir‘:\zlsagverts
{48 to appoint enthusiastic and inspirational lead education across the country. oy and Dﬁtﬁgrs
internet

| F- |
- "l9ure 4.7 Stages in the recruitment process




Documents used in the recruitment process

: iti ry for a business
recruitment documents can be prepared, itis necessa y ora pusiness
A b analysis is the collection and interpretation

duct job analysis. Jo ! aion o
Fofcon tionlabout a job. The analysis of a job helps managers to make e
informa ;

recruitment and selection decisions.

i rstand what the
To identify the best person for the job, managers must understan

. s K
b involves. Job analysis provides this understanding by examining the tasks
ob inv .

Ty i iciently.
] formed within a job and the skills that are needed to carry it out efficiently
perforr

ight” per g e appointed.
This information is essential if the ‘right” person or people are to be app

it 1 i i ! o draw u
Once job analysis has been completed, it is possible for managers t p

the documents used in the recruitment process.

Job description
A job description is a document statin : -
that make up a particular job. It usually includes:
- the title of the job ‘
- the hours and place of work )
i the jo
= the main tasks that make up _ .
= the employees for whom the person will be responsible.

g information about the duties and tasks

Person specification

A person specification is a document s
required by an employee to fill a post th
might include:

= educational qualifications -
- vocational or professional qualifications
- ability to work as part of a team

= experience of similar jobs.

etting out the qualifications and skills
at is advertised. A person specification

a 11 S l

becifications in
desirable. Managers make alot of use of person sf ation
s ' loyees. Person specifications

[f an applicant’s qualities and qualifications
he or she may be a good person to

the process of recruiting and selecting new emp

can be used to judge applications.
match the person specification closely,

recruit.

Job advertisement

internet. A job advertisement would normally include:

= the title of the job .

- some information about the business

= the location of the job ‘ s

- working hours expected and holidays offere

=» pay rates o

- how to apply and the closing date for applications.

Job analysis is
the collection and
interpretation of
information about a job.

A job description states
information about the
duties and tasks that
make up a particular job.

A person specificati_on
sets out the qualifications
and skills required by

an employee to filla

Businesses often use employment agencies to draw up

their job descriptions and person specifications and to
place their job advertisements.

The way in which the job is advertised will depend on
the type of job that is available. For junior positions in a
business, an internal advertisement on the company’s
noticeboards or in its newsletters or magazines may be
used. Alternatively, the job might be advertised in local
newspapers. For more senior positions, such as a company
accountant or a production manager, a business might
advertise more widely. It may choose to do this because it
needs a large pool of potential candidates to attract high-
quality applicants. This may lead the company to advertise
in national newspapers or specialist national magazines.

Many business
throughout the

Application form and curriculum vitae (CV)

To apply for ajob, it is necessary for applicants to give some information
about themselves. This will include personal information such as their
address, employment history and qualifications. This information is

es advertise vacant jobs at the

local Jobcentre Plus branch. These are located

UK.

A curriculum vitae [CV)
provides information about a
person, including qualifications,
employment history and interests.

Lparticularjob.

essential so that a business can match the candidate’s
qualities and qualifications with those set out in the
personspecification. In this way, the business’smanagers
can choose which of the candidates are suitable.

Sometimes applicants for a job do not fill in an
application form, but provide a curriculum vitae (CV).
This is a document that sets out information about

a person’s qualifications, employment history and
interests.

Selection

Choosing an employee from those people who have
applied for a job is called selection. We saw eatlier that
it is costly to choose the wrong person. As a result,
businesses aim to have thorough selection procedures.
The stages of this process are summarised in Figure 4.9.

All job advertisements include a closing date by
which all applications should be received. On that
date, the company’s managers will look at all the
applications that have been received and decide
which ones they are interested in. They will compile
a shortlist of applicants from which to select the
Successful candidate or candidates.

An employer can use a number of techniques to
select the best candidates from the shortlist.

_/

McCURDY ENGINEERING LIMITED

Diesel Mechanic

Our busy Heavy Transport Service Department requires
a qualified Diesel Technician to join our team. Experience
in the Heavy Automotive Industry is essential.

Full off- and on-site regular and modern training is
offered with our franchise groups including Paccar
trucks, Kenworth and DAF and also Volvo Truck, Bus

& Construction equipment, Cummins and Detroit
engines. Other up-skilling opportunities are available if
desired also. Tasks involve a good variety of mechanical
repairs and truck body repairs and some servicing, etc.

Overtime available if desired. Very good
remuneration available for the right person.

We are a great team to be working with: we pride
ourselves on the service that we provide to the Heavy
Transport Industry. We have a genuine interest in our
customers and our staff; we can offer an exceptional

working environment with modern equipment and
facilities.

Please apply without delay in the strictest confidence
by phone or post to:

Jim McCurdy, PO Box 1212, Plymouth
Phone 02 768 6609 or Jim's mobile 0785 449 236

Figure 4.8 A job advert. [f you were thinking about applying
for this job, what extra information would you require?




4 Human resources

Interviews 1 'Match application forms
Tnterviews remain the most common form of selection. g;ecc‘;ﬁcg%z‘:ﬂ e job
Candidates may be interviewed by panels of up to ten :

people, but one or two people conducting an interview l

is more common. It is quite cheap for a business to 2 Draw up a shortlist of
stage a series of interviews, but they are not always a candidates (perhaps 8-10)
reliable way of selecting the best people for a job. Some ‘

people are very good at interviews, but that does not

always mean that they will be good at the job. 3 Invite applicants to attend

the selection process
Psychometric tests l
These are multiple-choice tests designed to show the o
personality of the candidates who have applied for a o interviews

job. The results of these tests can help the managers * psychometric tests
of a business to judge which of the applicants has S

After the closing date
for job applications

References will be
- called for at this stage
(or at stage 5)

Senior staff may be
——— required to play a part
in the selection process

the most suitable personality for the job. These tests l

i i i t likely it i I it 1 o This is likely to involve
can also show which cand@ate is most likely to fit n 5 Choose the best applicant(s) D ){/} 1o involve
with the team of people with whom he or she will on the basis of performance <-— ..\« in the selection
be working. in the selection process process
Assessment centres &

; - ; - dercy Thi be d

Over recent years, businesses have made increasing 6 Inform all candidates letfefz'; o one by

use of assessment centres to avoid appointing the of fhe-gladsion taken

telephone call

wrong people. Assessment centres are more likely  Figure 4.9 The selection process

to be used in making senior appointments. In an
assessment centre, a candidate is likely to be involved
in a variety of activities:

= role plays simulating the job itself

=» psychometric tests

=» a number of interviews

=» practical tasks for candidates to complete.

Candidates can find the tasks they carry out in assessment centres demanding
and stressful. This can help a business to select people who perform well under
pressure. Thus, although they are expensive to operate, assessment centres can
help businesses to choose the best person or people for a particular job.

The benefits of an effective recruitment and

selection process

An effective recruitment and selection process is one that appoints the best and
most suitable employees. This gives the business the most skilled and experienced
employees and reduces the chances of them leaving within a short space of time.
Although operating an effective process for recruiting and selecting employees
can be costly, it offers businesses significant benefits. These may become more
apparent in the longer term and should result in increased profits for the business.

High levels of productivity

Appom’fing the best employees can help a business to achieve high levels of
produc'tlvity. This means that employees produce relatively large quantiﬁes of ooc?s
or services over a period of time, such as one year. If an employee is productivg thi

me.ans that the labour cost of producing a single unit of output is likely to be lc;we :
TI’}IS can help a business to be more competitive, as it helps it to sell products at | .
prices. This can increase sales. Alternatively, the business may sell at higher s
and enjoy increased profits as its costs of production are low. e

Productivity is the
guantity of goods or
services produced by an
e_mployee over a period of
time, such as one year.

Av ;a_ge;jgmal ;;ay
___per employee [£)

|00

Table 4.2 Average annual production per employee and average annual pay per
employee for two businesses

Use the information in Table 4.2 i
.2 to calculate which busi
 lower labour costs for each unit of output produced. siness (A or ) haSJ

N\

High-quality products or customer service

Appointing the very best people will help a business to supply good qualit
product's. This means that the products will meet the needs of customers as 'fully
?}iepzsrs;bl; Employing people with.appropriate knowledge and skills mean};
-.’ Z; o He; e [;o supply goods or services with which customers are satisfied. Customer service i

y. A car manufacturer, such as Nissan, will seek to employ the most that part of a bzzliﬁzsi's

skill i j \
f -1 edcll engineers t.o er}able it to supply fuel-efficient and environmentally activities that is
riendly cars to satisty its customers. concerned with meeting

-» C; Stor_ner service. A restaurant which employs a knowledgeable and skilled cisiniers Mesdc R
chef will be able to deal with very busy periods when large numbers df = s i )

customers are expecting meals. The same person will be able to cook a meal
for someone with special dietary needs.

Key terms

Quality is the extent
to which customers’
requirements are met,

Improved levels of quality and customer service can be very important for some
types of businesses, such as those who pursue objectives other than profits

1m 5 3 t H




4 Human resources

Business insight

Nissan leads the way

The Japanese car manufacturer, Nissan, produces one
in three cars that are made in the UK. It faces tough
competition from other car manufacturers such as
Volkswagen and Ford. The company's managers say that it
rtant for it to keep production costs to a minimum.

isimpo

The company's factory in Sunderland is the largest car
factory in the UK. It has the highest rates of productivity
of any car factory in Europe or North America. It
manufactured 476,589 cars in 2015, building them at

3 rate of one car every minute, 24 hours a day. The
factory employs more than 6,800 people, and a lot of
technology is used on the production lines.

Nissan employs some highly skilled workers in
its factory in Sunderland.

Analyse why it is important for Nissan to operate an
effective recruitment and selection process at its

Lfactory in Sunderland.

Reduced costs
of production

Employee retention

Employee retention measures the proportion
of employees with a given length of service
(typically one year or more) expressed as a
percentage of overall workforce numbers.
This is often measured by calculating the
number of people who have worked for the
business for a certain period of time (perhaps
one year or more) as a percentage of the total
workforce. For example, if a business has
1,500 employees and 1,350 have worked for
the business for a year or longer, its employee

retention rate will be:

Improved rates
of employee
retention

Increased
productivity

An effective
recruitment and
selection process

Increased
profits

Improved quality
and/or customer
service

More satisfied
customers
Figure 4.10 A summary of the benefits of an effective

1,350 x 100 + 1,500 = 90% recruitment and selection process

itment and selection should increase a business’s
level of employee retention because it is more likely to result in the best and
most suitable person being appointed. As a result, the employee is more likely
to be satisfied with the job as they feel they are a success in this role. Equally,
the business’s managers will be content that the person works well with other
employees and has good levels of productivity. Thus, they will want to retain

An effective system of recru

the employee.
Having poor rates of retention because large numbers of employees are leaving

can pose problems for a business:
=» Higher costs. Research shows that the cost of replacing an employee

who leaves is up to £30,000. Recruiting and selecting employees is costly
(for example, advertising posts and paying other staff to recruit and select
employees) as well as training costs for the new employee.

(6 marks) __J

R

=» Reducti i i
emp}:)c;;ons mtglliallty and customer service. Even experienced and skilled
es can take time to settle into a new job. It 1t
; . Inthe meantime, th i
of their work may be relati J B
tively low. Customers may b i
; OW. e unha f th
are expected to deal with a new . et
employee. For example, some cu.
‘ ‘ ; stomers
may have valued a particular hairdresser highly and be less h i
replacement. Ry e
=* Red ivi
pr(; d:llc?f rate:ll ofl productivity. A new employee will probably be less
ctive until they are familiar with t i
proc 2 he business and have possibl
received training. Research shows it takes a new employee up to sixlljnonthy
5

7

@ Contracts of employment

E;I;}:;c?tflﬁ:; 22;;. E;) be given a contract of employment within two months
erﬁployer 8 an.em P;Z;::ZZ ,S[f ;mplf};ment is a legal agreement between an
It is common for a contl'ac”c of emif;/;eiil:;pﬁzlesdse?OndltlonS employment
=» normal working hours .

=¥ rates of pay

=» holidays

=» duties at work

=» place of work.

A contract of
employment is a legal
document stating the
hours of work, rates of
pay, duties and other
conditions under which a
persan is employed.

Full-time employment
occurs when someone
works a number of hours
equal to the normal
working week, normally
between 35 and 40 hours.

Busine ' i
o nsszs fcan re;nut employees on different types of contracts to meet
eed for workers. There are a numb i
: er of different types of ¢ i
employment in use in the UK at the moment. g e

Full- and part-time employment

A Ty .
Funtflness mlay employ a mixture of full-time and part-time employees
-time employees work for the standard -
- number of hours in th i
week. This can vary from business to business. o
However, in 2015, the average number of hours

worked by a full-time employee in the UK was
39.1 hours.

Part-time employment
takes place when an
employee works for fewer
than the normal number of
kworking hours per week.

Many businesses also employ part-time
employees who work fewer than the standard
number of hours. It is common for part-time
'employees to work two or three days a week, or
just afternoons or mornings. Some part-time j;:-bs
are allowed to help parents to look after school-
age children. Thus, this group of part-time
employees may start later and finish earlier than
full-time employees each day. In 2016, there were
?3.43 million part-time employees in the UK - this
Is approximately 25 per cent of those at work.

Ma{wy parents work part-time to allow them to look after
their children outside school hours.




The benefits of full- and part-time employment

| Table 4.3 summarises the benefits to employers and employees of full- and

part-time working.

Benefits to employers

® Employers may benefit from having employees at
work throughout a normal working week. This can
result in better communication as employees are
more likely to be able to speak directly to one another.

® Full-time employees may be mare skilled and
experienced as a result of being at work for
more hours each week. This can improve their
performance at work.

Full-time

experience.

® Part-time employees can help businesses to
cope with busy periods during the week. For
example, some shops may attract large numbers
of customers at the weekend. Having part-time
employees at work can help to provide good
customer service.

® Some businesses need employees with specialist
<kills, but do not need them throughout the
working week. For example, a small business
might need an accountant to organise the
payment of employees and to update financial
records. This might only require one or two days’
work each week.

Table 4.3 The benefits of full- and part-time working to employers and employees

Job sharing and zero hours contracts

Job sharing occurs when two or more people combine to fill a single job role.
: For example, some teaching posts are filled by two people. One might work
\ Monday to Wednesday each week, with a second person at work on Thursdays
and Fridays. For employees who job share, it can offer many of the benefits of
| part-time work set out .1 Table 4.3. Employers can benefit in terms of having
l a broader range of skills. However, there are disadvantages in that the people

sharing the job may not communicate well.

‘ 7ero hours contracts are used widely in the UK economy. A person with a zero

| hours contract is not guaranteed a set number of hours of work each week. They

may get no hours, or be offered a large number. Employees on these contracts

: do not have to accept any hours of work they are offered. However, they may

: feel that turning down work might mean that they are not offered any hours in

the future. In 2016, just over 900,000 people in the UK had a zero hours contract
_ this is about 3 per cent of the country’s total workforce.

Benefits to employees

® Full-time employment means workers are
paid for more hours each week. This can
improve living standards and reduce the
need to find a second job.

® Employees are more likely to be able to
gain promotion as 3 full-time employee.
Full-time working can allow them to attend
more training courses and to gain mare

e Employees can fitin work with other
commitments, such as caring for older
relatives or for children. Many employees
only work during school hours or for half
days. This allows them sufficient and
<uitable hours to care for their relatives.

® Some older employees may not want a full-
time job, but do not want to retire. Part-
time work can be a ‘half-way’ solution on
the road to full retirement.

You only need to know the:
benefits of full- and part=
time working and not the
drawbacks as well.

A job share exists when
two or mare employees
agree to share the
responsibilities of 3 single
job.

A zero hours contract
allows employers ta
hire staff without any
guaranteed hours of

work. /

Over 25 per cent of
people employed in th -
hol s coritasts in S0TE ¥ e hotel and food industries were on zero

E BuSiﬂeSSE i p |
' . ec Ulte {O e i i S, a i e I se e F;; =4 |
; pe S0 o] people B i
. . usinesses
be e;:| a u b@ o] VvayS f om havi g d e ECt{Ve
ecru ent d d SBlECin p oces d

[edx'fernaL recruitment]. Both approaches have

P2 ualntages and disadvantages. To recruit an

Qeim i

p .oyc.ee, a business needs to conduct a Jjob analysis

Quick questions

] ‘\."Vhai\

2 State two cir [
i cumstances in which [ | L
ichia business business is likely to include in a job advert i

might need to recruit new employees

3 Which of th e (2 marks) }
o _ marks] :

e e following is a benefit of the use 5 The use of which of the following i S :
al methods of recruitment? method of selection? ollowing is a :

a) | . ! .
(@) It allows the business to recruit from a (@) Job analysis ;

wider pool of applicants.

b) Asse
(b) It offers the business new ideas el G

(6) Person specifications
(d) Job descriptions

fscsencevens

() The business is likely to have an
employee with the right skills immediately

d) 1
(@) It offers employees opportunities for
promotion.

[1 mark]

6 Which document used in the recruitment

and selection <
(1 mark] process lists the :

mersrssme .
. . ErssssssssnEsseans e e
seses




applicant for a job?

(a) Job description
(b) Curriculum vitae (CV]
(¢) Person specification

(d) Application form

selection.

,-.-.-.-.--.-o-.--.
~J

"--lcl-lluunti.i.lc.t-.u..-.l.

Case study

: swaledale Hotel Group Ltd

: The Swaledale Hotel Group Ltd [

qualifications and skills required by an

(1 mark]

State one advantage and one disadvantage
of using interviews as a method of

(2 marks]

SHG Ltd) operates 20

: luxury hotels in locations across the UK. It expects
very high standards of its employees and trains them
: carefully to provide hotel guests with outstanding

: customer service. As a result, it has developed an

: excellent reputation.

SHG Ltd has grown steadily since 1996, opening

| a year. The company’s

* <3les and profits have fallen slowly over the last three
years. It has seen a large number of its employees

: approximately one new hote

: leave over this period.

The company is about to open four new hotels in
: northern England and is seeking to appoint managers
! and assistant managers for each of these hotels.
* SHG Ltd's HR managers expect

Ssusnesenesnsne essssssmsnasarnsnse sew

that these posts will

8 Explain one reason why a business might
use psychometric tests as a method of
selection.

(3 marks)

9 State two benefits a business may receive

from operating an effect
selection process.

ive recruitment and

(2 marks]

10 What is the difference between a job share

and a zero hours contract?

prove popular and should at
of applicants, whether advertised internally or
externally. One HR manager is concerned that they
might have difficulty choosing the best applicants.

1 State two methods of selection that SHG Ltd might
(2 marks]

use over the coming mon

tract a large number

ths.

2 Explain why the HR managers at SHG Ltd

should use person specif

recruitment and selection process.

3 Analyse why it is importa

ications as part of their
(4 marks]

nt for SHG Ltd to

have an effective process for recruitment

and selection.

4 Recommend whether SHG Ltd should use internal
or external recruitment to appoint its new managers

and assistant managers.

(6 marks]

(& marks)

ssissasssrusteresREsRRall

swessssmsossenmensw ®apecossesns

-.-'-.c.--.o;--o---.o..--o.-.-n-

(9 marks) §
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Motivating employees

.

motivation is important b
: ecause a motivated w
business very competitive. A

By the end of this topic, you should know:
W i .
® what is meant by the term ‘motivation’
@ the benefits to businesses of having motivated staff

9 the methods of motivation used by businesses

The importance of motivation

What is motivation?

dri
ives an employee to work very hard and to carry out his or her job

most writers itfer
1s agree that different people will be motivated by different things:

bonuses for r ‘ i
vt or reaching targets will result in increased levels of motivati
ation through non-financial factors. However .

I . ;
actors such as praise or the opportunity to carr
are more likely to motivate employees.

E\/Vhy do people work?
=veryone who works is moti

| ivated to do so b

?‘30})1@ are all different and this me it they ave motivated by i
actors. Abraham Maslow,
:’f:hat has become known
human needs, and he s

.'ffhen this would motiva
beloyy

ans that they are motivated i

. . by different
'fl l\isychoiogst, tried to explain this through a theory
a‘i{ aslf)_w s hierarchy of needs’. Maslow identified five
aid that if people could meet these needs by working

te them at work. Ma ‘s hi
: . Maslow ; .
and illustrated in Figure 4.11: s hierarchy of needs is set out

Motivation i
i) 1 ghz range of factors that influence people to behave in certai
escribe - . ain wa
as the will to do something. In business, motivation is the force};at

. owevi z

=* Motivatio i
through ’ch;l llllss;n§ money. Some people believe that motivation is achieved
. of money. They argue that offering employees higher play o
T

It

Motivation is the range
of factors that influence
people to behave in
certain ways.

motivation : 3 others vi
as the result of a non-financial factor. Thus they believethlfmfr
a

y out a more interesting job L

hese two views on
the different causes of
motivation explain the
different techniques
or methods used by
businesses to motivate
stgff. Try to remember
thrs‘when explaining why
businesses use different
techniques or when
thinking about what might
be the best method in a
kgive?n situation. J
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by organising people to work in teams.
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people to want to feel good about
hey work with respect them for
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. . achieve high levels o _
: for example, they ac _ raise and by
job 1f:li mentary. However, this need can also be met at \gork b); (];r e
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CO:;ZniSiﬁg an employee’s achievements, by Paylcrilgla. 222 need to be given
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sty ' low’s top-leve , -
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be met by an &P O his or her working day. In both cases, there ar

given the power 0 OTgamIse which will help to stretch them.

i es
more demands being placed on employees,

Self-
actualisation
(working to
full potential)

Higher level needs are
satisfied by the way the
jobis organised — m_amly
non-financial benefits

Ego/self-esteem needs
(valued by others
and yourself)

Love and belonging needs
(friendship and trust at work)

safety needs Lower level needs

| fie workplace) are satisfied maimy
(secure job and sa e st il
Physiological needs conditions

(food, shelter, clothing)
Figure 4.11 Maslow's hierarchy of needs
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Maslow argued that people would steadily move up
through these five levels of need. Once one level was
satisfied they would try to satisfy the next level. The
central point of his theory is that if employees are
given the opportunity to satisfy the next level of needs
at work, they will be motivated by this. Their level of
effort and commitment to the job is likely to increase.

The benefits of a motivated
workforce

Most managers would say that to have employees
who are motivated is a very important factor in

A/

] ) Employees can be motivated by working with others and
making the business successful. There are a number : ;
by having their safety needs met.

of reasons why this is the case.

Increased productivity levels

As we saw in Topic 4.2, productivity measures the quantity of goods or services
produced by an employee over a period of time, such as one year. Motivated
employees normally work hard and try to do their jobs as efficiently as possible.
The manager of a business might find that motivated employees always arrive
at work on time, use their time at work as effectively as possible and do not,
for example, stand around chatting. This means that the business will produce
a large quantity of goods or services with relatively few employees. In other
words, its employees will have high productivity levels.

High levels of productivity can offer considerable benefits to businesses.
It allows them to produce goods and services relatively cheaply because the
labour cost involved in producing each product is lower. Hence, the goods or

services can be sold at lower prices making the business more competitive. This
is very important in industries where low prices are

important to customers. For example, the airline
Ryanair benefits from a productive workforce and
low labour costs. The company’s labour costs were
less than 10 per cent of the income it received from
selling flights in 2013. This is lower than many

other airlines and enabled Ryanair to sell flights
very cheaply.

Improved employee retention rates

Employees who are motivated are more likely to
be loyal to a business and to remain with it even
if there are tempting jobs available with other
businesses. A business has a high retention rate if a
large proportion of its workforce remains with the

Over one year. for its flights.

o i g -l
I i =__

While you may not need

to know about the specific
theories of motivation

by name, such as the

one written by Abraham
Maslow, you may find

this theory (and others)
helpful in explaining

why employees can be
expected to behave in

certain ways. J
.

Most businesses can enjoy higher levels of productivity if
employees are motivated. Ryanair's employees are very
usiness over a period of time, usually measured Pproductive, which helps the airline to set very low prices
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Business insight

Jaguar Land Rover is Britai
isB "
employer ritain’s best

Table 4. ,
4 shows the top five employers in Britain in Company

Type of
business

Score
(Maximum =
10)

2016, following a sur
e vey of 15,000 empl
400 businesses ! ployees and over J
- guar Land |Vehicle
J _ Rover [J b B
28?281' Pand Rove-r (JLR] enjoyed further success i A iR el [ L o
as Its sales figures were very impressi fs in 2 straZeneca | Drugs and
?;iﬂsuil sale; of vehicles rose 13 per cent tolg; 257? 3 H biotechnology o
as principally due to rising d et e Retail
Jaguar XE ng demnand, such as the - — 8.49
bi[?icm EBZ;ZItS revenue for the financial year was £22.2 |4 Aigag Clothing
R hés Creartr;r(ljllon higher than in the previous year.. manufacturer |8.47
st ol over 20,000 new jobs in five years and and retailer |
eavily in training its employees Dyson Engineering
Anal i . ' 5
yse the possible benefits to Jaguar Land Rover and 8.44
manufacturing

from being voted as Britain’s best employer.

Source: Bloomberg: http://bbe.trunky.net/

st a business up to £30,000

i (6 marks] itai
Table 4.4 Britain's top five bestemployers, 2016
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Methods of motivati
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businesses uesl Y

'I\lon—f.mancial methods of motivation
ncreasing authority through job enrichment

Some employees may lack motivation be

simple to d . ition because they are bored. They find theirj
malfing theojzgsd ;Z 1235- ;ntgrzs} in it. Job enrichment can help to gorrrlec-{c?}[:i?zb
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_Job enrichment
is designing a job to
give interesting and
challenging tasks.

Training
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o Successfirn T;e bésllc? of_mar_ketin_g before he or she can design z

f o e owyr.ler 5 tllammg itself is likely to motivate because it shows

E o oness own values t.he en'wployee and this should increase self-
g can help to motivate in other ways, for example, by making

the work
. place safer following health .
8teater detail in Topic 4.4. ’ and safety training, Training is covered in
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Business insight

Virgin Group’s ‘horrible day’

Sir Richard Branson is a well-known §upp0étreoruof

a relaxed working environmenlt. Thg V|fg|hnt o \,\[,Jay_c, "
recently held a ‘corporate day, to highlig

which the company motivates its employees.

In an interview with the
BBC, Branson explained
why the company had held
the day. He said that _the
purpose of the exercise
was to give his employees
‘3 taste of what a lot of the
world is still run like. It

Virgin Group's workforce was asked to:
® wear traditional office dress, not casual

clothes W was a horrible experience
ible working hours and a body. It was a : .
¥ gbaa?:on ¥ fsohroec\‘:ﬁegr a v?ilorkforce that normally benefits from job

@ use the titles Mr and Mrs or Ms for colleagues in
their and other teams
® not look at social media or make personal phone

L calls.

Fringe benefits

s may offer employees a range of addition
clude:

enrichment and unlimited leave.

Explain one way in which the Virgin
its employees.

al benefits to supplement
Businesse

their pay. Examples of fringe benefits in
=» health insurance

=» a company car ,
= discounts when buying the company's products.

‘extras’ that employees

their pay, for example, @
company car.

Group motivates
(4 marks]
=

Fringe benefits are the

may receive in addition 1o

The use of fringe benefits can help to make employees more loyal and improve

retention rates. However, if offered to large numbers of employees, they can
become very expensive.

Financial methods of motivation

It is very common for businesses to use money as a method of motivation. The
belief that money has the power to motivate employees is based on the theories
of a number of writers who believe motivation is caused by external factors.
Frederick Taylor is probably the best known of these writers. He argued that:
= employees were only motivated by money

=¥ pay systems should be linked to the amount produced

= managers should retain authority and employees should be supervised
closely.

The work of Taylor and others has meant that businesses use a number of

methods of payment to reward their employees. Many of these methods have
been designed to motivate employees.

¥ Salaries. A salary is the income received by an
employee, stated as an annual figure. For example,
an accountant’s annual salary might be £47,500.
Employees receiving salaries are not normally
required to work a set number of hours per week.
Employees paid in this way may be motivated by an
increase in salary, perhaps alongside some fringe |8 | LR e
benefits, X S B

=» Wages. Wages are usually paid each week and 4 v
employees normally work an agreed number of o
hours. A higher hourly rate (called overtime) is paid
for any additional hours worked. An increase in the
hourly rate may be used to motivate employees.

Piecework is more common in certain industries, such

—
1

T, SN
Mty Gy

« & N
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=* Piecework. Under the piecework system, which is 25 Picking fruit and laying bricks.

also called piece-rate, employees are paid according
to the amount they produce. They are paid an agreed figure for each unit of
output they produce, subject to them receiving the National Living Wage as a
minimum rate of hourly payment.
= Commission. This is a payment made to an employee based on the level of
sales he or she has made over a time period. It is normally paid in addition to
a wage or salary. In effect, it is a form of piecework paid to people employed
to sell goods and services.
= Profit sharing. Under this method of payment, employees receive a share
of the business’s profits alongside their normal wages or salaries. This can
motivate as employees benefit directly from an increase in the business’s

profits. Many well-known companies such as John Lewis and Zara operate
profit-sharing schemes.

at least this rate of pay. J
.

Piecework is a method
of payment under which
employees are paid
according to the guantity
of products they produce.

The National Living
Wage is an hourly rate
of pay which is set by
the government. All
employees above a
certain age must receijve

~ o




Sarah has just finished trai

ning as a veterinary nu

She has seen two possibilities:
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+ asimilar post working 35 h

y of £17,500

Which one will give Sarah the higher pay?

There is much disagreement about the ex

employees. Some writers on motivation, suc

mentioned earlier), think it is the ma
it a limited role. Abraham Maslow, for exa

employees to meet some basic nee

as self-esteem needs. However, 0

hat non-financial methods should be
t of emp

and t
survey showing that 59 per cen
most impor
such as job enrichment, pl

interesting job’ is the
that non-financial factors,

employees.

Business insight

Tom’s first day

Tom was excited at t
job with a new webs

he prospect of starting a new
ite design company that had just
opened. However, his first day at work came as a
shock. Tom was given a small, unclean office to work
in on his own, while the two OWners of the business
kworked in a separate, larger and much smarter room.

ours each week and receiving £10 per hour.

———————————

tent to which money can motivate
I as Frederick Taylor (who was
jor factor motivating workers. Others give
mple, believes that it can enable
ds such as those for food and housing,
ther writers argue that it is no
used. This is supported by a recent
loyees in the UK believe that ‘an

tant motivational factor. This result sug
ay avital role in motivating

Do think about how
different groups of
employees can be
motivated or whether
the existing way is the
best. What methods of
motivation could fulfil
the needs that are nat
currently being met?
Maybe finance is not the
best method and non-
financial methods could
Lbe more effective.

as well

{ motivational,

gests

hem and they did not offer
k he produced. He wasn't
Il or not. Despite the
after the first week.

Tom had little contact with t
many comments on the wor
cure whether he was doing we
high rate of pay. Tom left the job
e actions the two owners of

have taken to improve Tom's
(4 marks]

Y

Explain the possibl
the business might
motivation at work.

motivated in different ways. Some
* are motivated from within and others by external
: factors, such as the promise of a reward. People
have different needs that can be met by working,
: and meeting these needs can help their level
: of motivation. There are significant bene

People are

businesses from having motivated staff: they are
more loyal, more productive and usually achieve
higher levels of sales. Businesses may motjvate staff
by paying them more, but also by giving them mare
interesting and demanding jobs, by giving training of

through the use of fringe benefits.
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Quick questions

1 What is meant by the term ‘motivation’? (2 marks)
2 What is meant by the term ‘piecework’? (2 marks)

3 State two types of needs that employees

can meet through work. (2 marks)
s

: 4 Stat.e two benefits to a new business of
! having well-motivated employees [2 marks)
: 2 S

5 What is meant by the term “job

enrichment'? (2 ks]
marks

ssencesenns

6 Which of the following i : :
isafin
of metivation? 9 ancial method

(a) Commission
(b) Job enrichment
(¢) Training

() Delegation

ssene

[1 mark]

.
sesssssasns
ssssesnnnse
"sssscesenan
ssssenssens
ssesennsna
srescsnnss
sessserasnas
sesssnsaces
sescenan

sasessse
BBesssescccossasessE G
essssoccons

Case stud

sosessesssvuna

: Amil’s workforce

- Amil Khan owns a small factory mixing and roasti
seeds. Roasted seeds are becoming increasingl -

: popular asa healthy snack and Amil wanted togbye t
of a growing market. His business is making a srnplel]r
pFDfI’F each month at the moment, although its s la
are rising steadily. . =

.
.
.
.

.
.

-

»

sssssssssnnne

: é\ml_[ has seven gmployees in his factery. He has
eqded that paying them well is important. He
behgves that financial rewards are the besé way t
motivate people and that those who produce m{JrE
Ehoulq be paid more. He thinks the business will
enefit from having a well-motivated workforce

fEach emptoy_ee has a simple job to do within the
ticf:ory .and little responsibility. Amil has to leave
e business regularly to talk to shopkeepers about

.
......
sssssenns
seesssvnsan
sessenss
sesae

ssssass
CsssEsssssctocssssERasua
-----

Which of the following is not a fringe benefit?
(o) Health insurance |
(b) A company car

() Discounts when buying the company’s products

(d) Piecework i :
mark

8 Explain one reason why training can improve

the motivation of a warkforce. {3 marks]
rKs

9 Explain the difference between salaries and

wages.

" _ (4 marks)
Explain how a business uses financial
rewards to motivate its employees. (3 marks]

Buosso0seseccscsDunE s

stoc;king his products. Sometimes, while he is away,
p.f“o uction stops because employees face problemsl,
that they do not know how to solve.

1 State two methods of payment that Amil would be

likely to use for his workforce. (2 marks)
S

2 Exp{gin one benefit that Amil’s business may
receive from a well-motivated workforce. la.marks!

3 Analyse the reasons why Amil should spend more

money on training his employees. {6 marks]

4 Do you i[hiﬂi-( .that Amil used the best method of
motivation with his staff? Give reasons for your

answer.
{9 marks]
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trained employees may leave the busines

i | know:
l By the end of this topic, you shoukg | n ,
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S : nt to a business
@ why training can be importa

: and disadvantages.

@ The importance of training

: d knowledge. It
) : ‘ob-related skills an viedge. ’ « the
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benefits to busit '

Iness their advantages
i f training provided by businesses and
| @ the maintypeso
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Improvements in productivity

ning new
Training results in employees leammqg e
gkills and gaining knowledge that Czu:[ o
.them better at their jobs. For exanjlple,l.ra u
given to employees on a producuoz;h'm; ean};

ew technology. Lhis

enable them to use nt ; "
that they can make products more quickly a
with fewer errors.

ivi teach-
Training can help improve productivity flzy "
ing employees how 10 do their jobs as € 1c1§ ly
1 i on
as possible This should reduce time wast?
‘ i 1
unnecessary tasks and time spent correcti gn e
i 0
i ore time to be spen
mistakes and allow m & on
most important activities. Training also ml’lk ‘
i ial employees.
i g tive to potentia
business more attrac - °
This makes it easier for the business to attra
the best, and most productive, workers.
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; i [ ents in
Using technology can result in huge improvem

employees’ productivit
used efficiently.

can bring many

Training is a range
of activities giving
employees job-related
<kills and knowledge.

e e tolDe
y, but training is required if it1s to

More motivated employees
We saw in Topic 4.3 that levels of motivation can be an important part of creating

an effective workforce, Training can improve employees’ motivation:
= Training can make employees feel valued. This will help to motivate

and make them more committed to the business and their jobs.
= Training allows employees to ¢

them

arry out duties which are more challenging
and more interesting — this is known as job enrichment. This can improve

their enjoyment of the work and their performance at work.

Improved rates of employee retention

Training can make employees feel more loyal to a business. It also gives them
additional skills, which may mean that they can be promoted or take on more
challenging work. Both these factors mean employees are less likely to leave,

Businesses with good employee retention rates keep experienced staff and do
not have to pay the costs of recruiting and trainin
that 75 p

g new staff. Research suggests
1

er cent of recruitment costs relate to replacing employees who have

eft the business. Thus, businesses can reduce recruitment costs significantly by
improving employee retention.

Employee retention is discussed in greater detail in Topic 4.2.

Business insight

TalkTalk fined £400,000

TalkTalk is one of the UK's largest telecoms
companies. It has been fined £400,000 for security
failings that allowed a computer hacker to access its
customers’ data ‘with ease’. An investigation found
that the cyber-attack in October 2015 was possible
because of weaknesses in TalkTalk's IT systems.

addresses of nearly 157,000 customers and the bank
account details of over 15,000 customers.

Research by the UK government shows that 75 per
cent of large companies suffered IT security breaches

in 2015. Half of these were caused by employees
lacking suitable skills.

Criminals were able to gain access to the names,

Analyse why large companies in the UK might spend
addresses, dates of birth, phone numbers and email
L

more on IT training for their employees, (4 marks)

J

Production of high-quality goods and high levels
of customer service

Training is essential if all employees, including those newly appointed, are to
Provide high—quality products and high levels of customer service. Training
leduces the risk of faulty goods bein

g produced as employees are less likely to
make errors.

ES:ff.rli]arly, training in customer service can give employees a clear understanding
% how to meet customers’ needs and to use the business’s systems to do this.
In 2016, Vodafone, one of the UK’s largest mobile phone service companies,
Teceived g large number of complaints about poor customer service, such as
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by spending £15 million on an additional 72,0
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and its performance has improved.
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Figure 4.13 Why training is important
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@ Types of training
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provide for its employees (see Figure 4.14).
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Figure 4.14 Types of training

Induction training

Induction training is the first type of training that an employee will receive once
he or she has started a new job. It is intended to help new employees to become
more familiar with the business and the job that they are to do. Induction trainin g
might involve meeting the other employees at the business with whom the
candidate will work closely. The new employee will also learn key information
about the business, such as how its IT systems work, as well as more about their
role in the business, This type of training normally occurs within the workplace,
After induction training, employees may be offered other types of training.

Induction training offers a number of benefits:

= Induction training helps new employees to integrate with existing workers
and to learn how to carry out their new jobs effectively. Induction training
can help new employees to become more productive earlier.

= Some employees may leave after a very short period of time if they do not
feel that they are supported. Induction training can help to avoid low rates
of staff retention. As a result, businesses do not face the costs and disruption
that can accompany replacing employees.

On-the-job training
Using on-the-job training means that the employees do not leave the workplace.

This type of training means that employees may learn from more experienced
workers. It is popular in the UK with 48 per cent of businesses using it in 2015.

There are a number of types of on-the-job training:

= Work shadowing. Here, experienced and skilled employees are observed
during the working day. They may offer advice and guidance as well.

= Formal training sessions. These can be led by experienced employees or
by Specialist trainers from outside the business. These sessions can update

Induction training is

the training given to an
employee when he or she
first starts a job.

On-the-job training is
given in the workplace.
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Off-the-job training

Off-the-job training takes place outside the place of work. It might involve
attending a course at a college or university, studying at home or going on a
course run by a training company. Sometimes, off- the-job training can last for a
considerable time. For example, an accountancy firm may pay for its employees

to gain accountancy qualifications. This could involve several years” part-time
study at a local college.

The benefits of off-the-job training

= Off-the-job training can help to bring new ideas and approaches
into a business. This can be valuable in industries, such as
developing computer software, in which change is rapid.

= Off-the-job training is expensive and can be used to motivate
employees as we saw earlier in this chapter. Receiving off-the-
job training can make employees feel valued as their employer
is spending significant sums on improving their skills. This
may result in substantial improvements in the employee’s
performance at work.

The drawbacks of off-the-job training

= This type of training can be expensive so, for businesses
making only small amounts of profit, it may not be affordable.

Many small businesses may not consider this as a realistic option.

= All businesses who provide off-the-job training for their employees take a

risk. There is every possibility that the newly trained employee will leave the
business for a new job once the training programme is complete. Off-the-job
training can prepare employees to work in a range of different businesses.

Thus, a business may spend heavily on training an employee, but receive
little or no benefit in return.
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The type of training required
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